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Answer within 200 words / SHEF 00 (% TEE WG |

Give an example of pratisedhasadhaka
pratisedhartipahetu. 5
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Discuss briefly the definition of sadhya following the
Jainas. 5
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How do the Jain logicians determine avagraha as a form
- of perceptual cognition ? In this context, discuss the nature
of arthavagraha and vyaenjanavagraha and their
interrelationship. 4+6=10
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Critically discuss the different types of asiddha

hetvabhasa . 10

%mﬂﬁ@aﬂm_@%@mﬁiﬁ%gﬁﬁﬁ“ so

3)

“Time is unchangeable, because it is created’. — Do you-

consider the hetu (probans)-of this inference to be

fallacious ? If fallacious, then identify the fallacy. (Answer
within 200 words) 5
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Discuss the laksana of pramana following the Jaina

logicians. (Answer within 200 words) 5
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